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Psychology Test - 26

Q1) Uereu@ld etevor QSTLIflev el(HLILL 6T600T6M600TE:  &5IT600T 5.
6,24,29,116,121, ?,489

a) 468 b) 484

c) 243 d) 363

Q.2) meld: UL G&HITL LY &6IT : [Bl6m6VWITE0T 6UMLDEIMMENT:
a) ID&GET Gal LD
b) @LLOLOMM
) BTCLITY @\6TSHSH61T
d) Llet)L

Q.3) &M 6eTedTm 6 UG FmI, 9 UG ML [HS FImiaITsemeT GLImey
NT&FoemeTaHEH5 G SHi6) &IT6ooT HMITET. 3|eU6TSH 2_6TeUUIS! () LD6OTEU WS
6TGOT6OT ?

a) 15 UGl b) 9 WIS

c) 6 ezl d) 7 edwl gl

Q4) “GerlCLmGwelwm” & GO Q6TeT @ eUen s GHITUWIMEGLD
a) QUITIHL_SHem6T & ([ (H &6V
b) Q&L L aulflul6h QUITIHETEHET 2_(H6U T EHSH6V
) SHRUMITET GILITHETEHET &UITf& 560
d) QUITHeTEHET F&HMm all(H) &6V

Q.5) DIDIIDID : 49499494 : : DIIDIIDD:
a) 94494499 b) 49949944
c) 49499494 d) 94944949

Q.6) GCaumiLl L QFmevenev CHIHOSHH&H5S:
Bl L L6dT, L& G & Te 6T, 6TLY & 60T, L0 & B8 mevf]
a) BIW,L 60T b) LN& G5 meuedT
C) 6TLQ.F 60T d) LDm8: @& meof]

Q.7) + 6T6OTLISI X 6T60TRYLD, - 6T60T LIS + 6T60TEY LD, X 6T60TLIG I+ 6T60T6) LD, + 6T60T LIS
— 6TEOTEY LD QIGBITEOOTLMTEV 42 X 21 — 3 + 6 = 4 60T LDGILIL] WIMTSI?

a) 100 b) 80

c) 90 d) 95



Q.8) ZW, TQ, SP, NL @eumnleh QUTIHSSHOMM S 6TSI?
a) ZW b) TQ
c) SP d) NL

Q9) @ FhICHS QMAUINEL SPHERE 6T60TM GI&F M6V EREHPS 6T60T (&M & & MTe0
EXHIBITION Q&IT6V 6T60&H & &M1& & LD?

a) NOTITBIHXE b) NOTIDIHXE

c) NOITIBIHWE d) NOITIBIHXE

Q.10) 2014 gLiFeL 10 NWIMPEGHILDEMLD 2019 616V 101D GHF) 6T60T60TE: HLpEMLD
6T60TE G5T6O0TES ?

a) GImIG6T b) Q& eueu Ul

¢) L& 60T d) ellwirLpedt

Q11) SHemS MHMID N&6TeT alwg HSID 8:4 6UFsHerler
QW SIsGefledr QLIHESEHE IGLIL] 800 6Tevflel 5 QIIBHLMBISHEHEHEG LIMG
SlauF&erfledr auWg NS GID 6Te0T60T?

a) 16 : 4 b) 9 :5

c) 12 : 8 d) 6 :38

Q.12) SUPPLEMENTARY 6T60TM Q& M6L6OeVI6TerT 6T(LD & &1 86061 LIULI60TLI(H &5
GLDEGHE0TL 6THS CIFMELEMEV 2_(HEUTE S @)UICVTSI?

a) MATURITY b) MENTAL

c) PURPLE d) NATURE

Q.13) Wemeor, G MP&H6T L MG & Well6y, &MeLa6rfl6oT 6T600T60011 8605
|61 (G 6ITET &56M6V861T160T @) (HLOL MG 6T600T6e00 1 &6m &eml el 24 H\ &S0
6760116V LL,60)60T85 611 60T 6T600T600T 18560185 6T6OT60T ?

a) 12 b) 13

c) 14 d) 15

Q.14) @@ L& GHemeT @CT GHISH L 2 (HL L LILIGWELMS HS @b
6T600TS61T160T QLI[HESH QS TENGH RMEMMLIEML 6TE00T600T TS &) (HE5 [ HLDSHH6)
W& ?

a3 b)
)3 d)1



Q.15)

QBETHHELILLL aUTISHMSHEHEHEG JMM LIL LD 6T&? G\LI6oTE Wileor,

LIM6DY6UE6IT, &T&LD

Q.16)

co , QD
RCIoNes
HHSSIGH6T : HTLILILL e HIGH6T
A: 6T Q& MeneVCLISFIULD &e6vofleoflLMe: @)6L6m6v.
B : 6T6L6VIT B5600f 16011 WD 196N WITE 2_6IT6ITeDT.
(L1968 6iT
| .6TELEVIT QG MEMEVCLIF LD 19 NIUITSH 2_6TET6T
1. 6TIH& Q& Mem6ev CLIFIW|LD 1qelulmss @)6L6m6v
1. S16v 19.6N1 56T & 60011 60f1 UL 2_6TETEOT.
IV.6T6L6VIT 19 &I UJLD 8560016011 WLIMTES 2_6IT6IT60T.

a) WI9.a] LIl @H6L gBHILD et L (KD &Fif]
b) WpL9.6 I, IVEIF]

) P96 | Bj6VeV S 11,1 &FIf]

d) 1516 G0 &if] @ 6vemev.

Q.17)

Q.18)

MILIL_ L 6T600T60)600Td:  85T60OTSs.

B G N
D J R
G N ?
a)u b)V
W d) X

19, 17, 23,28 LDMMILIL_L_ 6T600T60)600TE &ITE00TS
a) 19 b) 17
c) 23 d) 28



Q.19) (UL L 6T600T60I600TE:  &hITE00Ts.

a) 207 b) 212
c) 225 d) 227

Q.20) LYledTeu(HeussTel M6V &6l mITeoT 6T600T60) 60018 & MILILI(H 5.
2,5,10,50,500,5000
a) 2 b) 5000
)1 d) 50

Q.21) eiflevT eTedTLIS fIWIIT 6TETLIENS &M &S M6V 6UMBIGTETLD 6T60TLIS
6THEM 0TS M8 G LD?

a) 2 (3! b) aMiH&)
c) QUMBIS M d) FLD6NV & ([HSLD

Q.22) SBLL&TERID LIL S5 6V (&G MTeorLd 6T60TLIGI G)LI600TE60)6IT LD,

Q&F6UaIGLD eTedT LIS Lieoof] LiflLieUF&HemeTu]LD, eUL_L LD 6T6oT LIS
DS HI6UTEH 6T LD GMI&H M 6Tevtlev LisoofILflwimg @ Lievor

9
6 1 5
3 2 4

7

8
LD(HESSI6UTHET 6785560607 GLIT?
a)l b) 3
c)7 d)8

Q.23) GLLGTEDILD FLOETLTL Y6V 6THS @) (H GM&HemeT mmnleormev ellem
FlWMs 9emLnunb?

5+6+3-12x2 =17

a) ~ LDMMID x b) +OMOILD X

c) + IDMMID+  d) + MmO -



Q.24) @S 60T QSTLIL|6DILUI 6T600T60)600TES &T600TSH

48 : 4 ::96:
a)8 b) 6
c)12 d) 10

Q.25) 6(BH HLQ.&MTJLD 1 LN600T15 @ 62(H (LeMMU|LD 2 LD600I18G 2 (LM U]LD
QBTLIHS SIQEHMGI 61601160 G R NP FMHMIGE 618 G660 (DM

195G LD?
a)72 b) 12
c)78 d) 60

Q.26) 5 eBHUITUI 25 emULIGTAI6 25 LIS 6T&HH6060T F&56T5LD 6T60Td &5T600TSs:

a) 4-29 b) 8-2%
5 16

c) 229 d) 3-29
21 21

Q.27) 16 sin>60° . cos 60°="?
a)3 b) 4
c)5 d)6

Q.28) QS 60T QSTLFLI6MLUI 6T600T60)600TSH &IT600TS
WOLF : FLOW : : 8526 :?

a) 2856 b) 6258

c) 5862 d) 5682

Q.29) NSHUITFLOMTEOTENSHE & IT600TS
a) SOKI b) RNJF
c) TPLH d) NJFB

Q.30) GLOGTEILD 6T600TE6r 160 (LOLILILG ©_6T6IT 6T600T?
a) 1726 b) 2197
c) 2472 d) 5620



